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7indunis ( 7 . 4 )  118::  ( 7 . 5 )  7°K;

P J$s  = Nyps-

;“s T;.s N. ------------------(7.6)

dorn’l% (7.6) ~u%fl&~s%Hl~l  “Multiplication Rule”

&a probability mynbiil
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= 250 x 65

TX+ ----+ -U
N OL

= PIUl  + P2U2 + p3”3
+ ----+ P uact

0 -0.  u =c P u __-_-  -__----  - ------ (7.8)
Y=1”( y
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0: B
f {II)  .g(v)  = ;z1 yP f(Uy)  c P gw&

S=l s

= T(u) .igv)

. % G = F.g -----------------(T-IS)

drunks  (7.101,  (7.12)  Ibat: (7.13)  ;oardeluwleilaa&l“I
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_  L :.A ------------------!7.20!
i

E = EE;  = _>‘I 1 . ~ 1 Pa /s zT-y_ _ . li_L. ------------------(7.22)
2 in ATI

.
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$  c. ;’  8 ; ::  ;:L  a: ,::? !. ‘.,“iJ --------------(7.24)
*

-..-  - - - -  - - - - - - - - -  (7.25)
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Ky = 3. I!
L
Y

E = s .($+$+  ;) --___----_- ----em,,  7.26,
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P(E)  = c Q*(E) ------------------(7.29)
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p(E)  ’

7-m P(E)  = CO (E) a’(#  - E)

Y ::
SIJUU In P(E) = lnc  t  Inn  (E) t  lnfi’CE*-  E! ---------------(7.32)

118:: D i f f e r e n t i a t e  l n  P(E) b%3un’u  E ILa”aL
Y ’

(iicl'il Maximum) G&u

2 In P(E) = a In  fi (E) t a In Q’CE*-  E) = 0
7% 83 dE

llQ= ah R(E)  t a In d~r3  C-I) = 0
SE a?E

6 !E) =  alnn(E)  11%  B;E) =  a lnQ’;E; ----------------(7.34)
%?I s’

B(E) = B)iE’) ---------------(T-35)
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E +E’ = En
I

da E’ = E”-  E
r

y ”
WSthLi ; (E; = 0’ (Ek-Erl ---------------(7.39)
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lnQ(EnE  ) = lnR(E*)-BEr

bi%

B = ;Elni-i  (E”) -------,-------  ---(7*42)

. &19=3”  E*  A9! (E)  th&k’~n  7lntiIInl7 (7.40) 1153:: (7.43) 9-6

pr = C.e-*Er -----------------(7.44)

qlnhn~~  (7.44) kianai  “Canonical distribution ~;a Boltzmann distribution d?

e -BE~L!En-il  Boltzmann factorn

61  c L i&I:  UaadiU7%flHi’khin  Normalization Condition 51un1~  (7.2)

KziJ~

-BE,  _c c.e - 1
r

-q.P = I?
r

Ee-~%
r
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y=cpy =
I rr

- Er
c e
r Jr

-BE
;e  r

G (E  +AE)  = 8 A E ---------------(7.47)

Cl(E)

n(E t AE) = f<AE ---------------(7.49)

Q(E)
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T 2u-n = 1cc  P,.P,t”,-u,)2
F-s
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1. 11

3
2. 2

3. 0.3

4. 0.092

8. n. 4 ib

_-------------------------

i
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5. 0.25

6. n. 0.4

a. 0.6

FI. 0.16


